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\‘ National Testing Agency

Test Date : 23 Feb 2023 Test Slot : siot 2

Subject : 73-Sanskrit traditional subjects (including) Jyotisha/Sidhanta Jyotish/ Navya
Vyakarna/ Vyakarna/ Mimansa/ Navya Nyaya/ Sankhya Yoga/ Tulanatmaka Darsan/
Shukla Yajurveda/ Madhav Vedant/ Dharmasasta/ Sahitya/ Puranotihasa /Agama).
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1[Option ID=22201]
2[Option ID=22202]

3[Option ID=22203]
4[Option ID=22204]
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2.B, C HdoH
3. B, D hdTH
4.C, D hdaH

1)
(2)
(3)
(4)

A W N R
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The following table shows the percentage (%)
distribution of number of sportspersons and
number of male sportspersons participating in
Asian Games from six different countries A-F.
Total number of sportspersons who participated
in the games is 1100 and the ratio of Male to
Female among them is 15 : 7. Based on the data
in the table, answer the question.

Country-wise Distribution of Sportspersons

Distribution (%)
Country
Sports persons Male Sportspersons
A 21 % 20%
B 25 % 22 %
C 15 % 14 %
D 12 % 12 %
E 9% 10 %
F 18 % 22 %

FrafafEm aifee § o Rt 30 A-F 3 ot 9 & 9 &3 s fEenfedl 6t 5= ok
7oy EefEat #t g =1 ufawa fFave gt mar 81 i/ § w9 e el 3t ga
H@T 1100 § 3R I8 T3W 3T Al &7 31U 15:7 81 39 arferet & fu U st F onur
T UY HT IR SifeTE:

faaifsal &1 ¢2aR faavu

- faaRT (%)

A 21% 20 %
B 25 % 22%
C 15 % 14%
D 12 % 12%
E 9 % 10 %
F 18 % 22 %

Number of female participants from Country D is
% of the number of male participants from
Country A,

1.21
2.24
3.28
4. 31

(1) 1
(2) 2
(3) 3
(4) 4




S¥ D Y Afgan ufa il &1 Tem S A € gy ufauiiEl & Se sl % ¢l

1.21
2. 24
3.28
4. 31

1)
(2)
(3)
(4)

A W N R

1[Option ID=22901]
2[Option ID=22902]
3[Option ID=22903]
4[Option ID=22904]

Sl. No.102
QBID:12201002




The following table shows the percentage (%)
distribution of number of sportspersons and
number of male sportspersons participating in
Asian Games from six different countries A-F.
Total number of sportspersons who participated
in the games is 1100 and the ratio of Male to
Female among them is 15 : 7. Based on the data
in the table, answer the question.

Country-wise Distribution of Sportspersons

Distribution (%)
Country
Sports persons Male Sportspersons
A 21 % 20%
B 25 % 22 %
C 15 % 14 %
D 12 % 12 %
E 9% 10 %
F 18 % 22 %

FrafafEm aifee § o Rt 30 A-F 3 ot 9 & 9 &3 s fEenfedl 6t 5= ok
7oy EefEat #t g =1 ufawa fFave gt mar 81 i/ § w9 e el 3t ga
H@T 1100 § 3R I8 T3W 3T Al &7 31U 15:7 81 39 arferet & fu U st F onur
T UY HT IR SifeTE:

faaifsal &1 ¢2aR faavu

- faaRT (%)

A 21% 20 %
B 25 % 22%
C 15 % 14%
D 12 % 12%
E 9 % 10 %
F 18 % 22 %

Total number of male participants from Country B

and F together is % of the number of
participants in the games.

1.25
2.30
3.40
4. 45

(1) 1
(2) 2
(3) 3
(4) 4




B 3R F GHI o= U O3y UMl & oo we 1w H uiauiiE! @ e &1 __ % g

1.25
2.30
3.40
4.45

1)
(2)
(3)
(4)

A W N R

1[Option ID=22905]
2[Option ID=22906]
3[Option ID=22907]
4[Option ID=22908]

Sl. No.103
QBID:12201003




The following table shows the percentage (%)
distribution of number of sportspersons and
number of male sportspersons participating in
Asian Games from six different countries A-F.
Total number of sportspersons who participated
in the games is 1100 and the ratio of Male to
Female among them is 15 : 7. Based on the data
in the table, answer the question.

Country-wise Distribution of Sportspersons

Distribution (%)
Country
Sports persons Male Sportspersons
A 21 % 20%
B 25 % 22 %
C 15 % 14 %
D 12 % 12 %
E 9% 10 %
F 18 % 22 %

FrafafEm aifee § o Rt 30 A-F 3 ot 9 & 9 &3 s fEenfedl 6t 5= ok
7oy EefEat #t g =1 ufawa fFave gt mar 81 i/ § w9 e el 3t ga
H@T 1100 § 3R I8 T3W 3T Al &7 31U 15:7 81 39 arferet & fu U st F onur
T UY HT IR SifeTE:

faaifsal &1 ¢2aR faavu

- faaRT (%)

A 21% 20 %
B 25 % 22%
C 15 % 14%
D 12 % 12%
E 9 % 10 %
F 18 % 22 %

Number of male participants from Country E is
% more than the number of female
participants from Country C.

1.18
2. 21
3.24
4.25

(1) 1
(2) 2
(3) 3
(4) 4




¥ E © Yoy UiaHIRTgl &l 91 421 ¢ € Al uiaHial &1 4= ¥ __ % 3 B

1.18
2.21
3. 24
4. 25

1)
(2)
(3)
(4)

A W N R

1[Option ID=22909]
2[Option ID=22910]
3[Option ID=22911]
4[Option ID=22912]

Sl. No.104
QBID:12201004




The following table shows the percentage (%)
distribution of number of sportspersons and
number of male sportspersons participating in
Asian Games from six different countries A-F.
Total number of sportspersons who participated
in the games is 1100 and the ratio of Male to
Female among them is 15 : 7. Based on the data
in the table, answer the question.

Country-wise Distribution of Sportspersons

Distribution (%)
Country
Sports persons Male Sportspersons
A 21 % 20%
B 25 % 22 %
C 15 % 14 %
D 12 % 12 %
E 9% 10 %
F 18 % 22 %

FrafafEm aifee § o Rt 30 A-F 3 ot 9 & 9 &3 s fEenfedl 6t 5= ok
7oy EefEat #t g =1 ufawa fFave gt mar 81 i/ § w9 e el 3t ga
H@T 1100 § 3R I8 T3W 3T Al &7 31U 15:7 81 39 arferet & fu U st F onur
T UY HT IR SifeTE:

faaifsal &1 ¢2aR faavu

- faaRT (%)

A 21% 20 %
B 25 % 22%
C 15 % 14%
D 12 % 12%
E 9 % 10 %
F 18 % 22 %

What is the ratio of the number of participants
from Country D to the number of female
participants from Country E?

1.11:2
2.11:5
3.13:4
4.7:3

(1) 1
(2) 2
(3) 3
(4) 4




&= D & ufaHIfal &1 9= 7R SR £ U Afgar ufauiiiat ot G o ourd 87

1.11:2
2,115
3.13:4
4. 7:3

1)
(2)
(3)
(4)

A W N R

1[Option ID=22913]
2[Option ID=22914]
3[Option ID=22915]
4[Option ID=22916]

Sl. No.105
QBID:12201005




The following table shows the percentage (%)
distribution of number of sportspersons and
number of male sportspersons participating in
Asian Games from six different countries A-F.
Total number of sportspersons who participated
in the games is 1100 and the ratio of Male to
Female among them is 15 : 7. Based on the data
in the table, answer the question.

Country-wise Distribution of Sportspersons

Distribution (%)
Country
Sports persons Male Sportspersons
A 21 % 20%
B 25 % 22 %
C 15 % 14 %
D 12 % 12 %
E 9% 10 %
F 18 % 22 %

FrafafEm aifee § o Rt 30 A-F 3 ot 9 & 9 &3 s fEenfedl 6t 5= ok
7oy EefEat #t g =1 ufawa fFave gt mar 81 i/ § w9 e el 3t ga
H@T 1100 § 3R I8 T3W 3T Al &7 31U 15:7 81 39 arferet & fu U st F onur
T UY HT IR SifeTE:

faaifsal &1 ¢2aR faavu

- faaRT (%)

A 21% 20 %
B 25 % 22%
C 15 % 14%
D 12 % 12%
E 9 % 10 %
F 18 % 22 %

If 10 additional female participants from Country C
joined the games, then the total number of female
participants from Country Cis _____ % of the total
number of participants from Country C.

1.30
2.40
3.50
4. 60

1) 1
(2) 2
3) 3
(4) 4




afe T ¢ W 10 ifafkaa afgan ufquifar = fw & um femn, 9 3 ¢ T afgen wfawfgl &t oa
=T G2 C & UiqHIFET & o G- @l __ % g8l

1.30
2.40
3.50
4. 60

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=22917]
2[Option ID=22918]

3[Option ID=22919]
4[Option ID=22920]

Sl. No.106
QBID:12201006

After twenty five years of graduation, from a large
group of strangers, a student is able to correctly
identify photographs of students with whom she
attended and completed her high school. This type
of learning belongs to the category of

1. Recall

2. Recognition

3. Common Sense
4. Eidetic imagery

(1) 1
() 2
3) 3
(4) 4

HORFIA! & U 95 WE & a1 [Iad [RI&T I B & 25 981 976, U e faemf agg &
BICHIh! H U 515 T H Ty H g 3R R gl & arct faenfial & die UeR 3 ugaH o
T e g | SHIRTH & 98 UPR 6y o 4 Tafd g2

1. T RO
2. Uiy
3. OHFY TdeH

4. Twed

(1) 1
) 2
3) 3
(4) 4
1[Option ID=22921]
2[Option ID=22922]

3[Option ID=22923]
4[Option ID=22924]

Sl. No.107
QBID:12201007




Which of the following instructional effect does not
come under Role-Playing Model?

1. Strategies of solving interpersonal problems.
2. Comfort in expressing opinions.

3. Facts about social problems and values.

4. Competence in social dialogue.

1)
(2)
(3)
(4)

A W N R

FufaiRad canE® uymEl § O &F YHe Fde- Alsd & Sidtid g 31l 82
1. Jadgfadd GOE GHIYE S 0l
2. TaaR @t siftreafad & ggwal

3. I GRSl AR Hedl & a) H aW
4. QI daTg | gardl

1)
(2)
(3)
(4)

A W N R

1[Option ID=22925]
2[Option ID=22926]
3[Option ID=22927]
4[Option ID=22928]

Sl. No.108
QBID:12201008

Qut of the following, which technology integrated
model is more useful for researchers to use:

1. TPACK
2. SAMR
3. RAT

4. PICRAT

1)
(2)
(3)
(4)

A W N =

fFrafiaa Teife! teind Alsal & B Ausdisi  Tar 3 1Y e Suant &7

1. 4T & (TPACK)

2. TY U TH 3R (SAMR)

3. AR T (RAT)

4. U1 313 T 3R TS (PICRAT)

(1)
(2)
(3)
(4)

A W N R

1[Option ID=22929]
2[Option ID=22930]




3[Option ID=22931]
4[Option ID=22932]

Sl. No.109
QBID:12201009

Match List | with List I

List | List Il
(Classroom
Management) (Meaning)

A, Authoritative
Classroom
Management

I. A Management style that
allows students considerable
autonomy but provides them
with little support for
developing learning skills.

B. Authoritarian
Classroom
Management

Il. A Management style that
encourages students to be
independent thinkers but still
provides effective menitoring.

C. Permissive
Classroom
Management

ll. A Management style in
which teachers show students
that they are aware of what is
happening.

D. Withitness

IV. A Management style that
is restrictive and punitive, with
the focus mainly on keeping
order in the classroom rather

than learning.

Choose the zorrect answer from the options given

below.

TA-IW,B-ILC-1I,D-I
2ZA-1LB-1,C-1V,D-I
A-ILE-IV,C-1,D-1I
4A-NLB-IV,C-1,D-1

1) 1
(2) 2
3) 3
4) 4




Tt -1 B gt -1 o gAfed St

il -1 (BT

il T -1 (3R 3E)

1. TEEE P a8 el ol f[qenfial @i fHe w|mad qaH
B e

e HTEHYA Bl B

; — II. UEed! g e ol faenfial & Wdd fda® sH &

e U UicIfed @al & g 3@ Hi THEasRI AR Sl
2l

C. AP |l UsH B g8 Jcil foraH R faenidal «f ug
DI Uge  [UolRid g @ d O gl W veai R IHd g |

S Iv. TEe B g8 9a off ufdd ok <81d® § 9
- e SHTEFT B 3Uféa Ham o Ia=IT 91 T@dl ¢

i< TR MU el H 9 9E IR g

TA-IV,B-1l,C-1ll, D-1
2ZA-NLB-1,C-1V, D-1
A-ILB-IV,C-1, D=1l
4 A-NLEB-IV,C-I, D-1

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22933]
2[Option ID=22934]

3[Option ID=22935]
4[Option ID=22936]

Sl. No.110
QBID:12201010

SWAYAM is a program initiated by Govt. of India
and designed to achieve the three
cardinal principles of education:

A. Access
B. Equality
C. Equity
D. Quantity
E. Quality

Choose the correct answer from the options given
below:

1.B, D and E only
2. A, Cand E only
3.B, Cand E only
4. A, B and D only

(1) 1
(2) 2
(3) 3
(4) 4




T (SWAYAM) HRd TSR gRI AR a1 T Sriepd ¢ forads! Af¥ded T et & o Javyd
e fogidl @l T o & U BT TE 7 -

A, STH
B. THMAT
C. gHdl

D. HHEAT

E. TUTad

i feu e fasdheal 5 U U8l IR 94 -
1.®ad B, D AR E
2.HaAA, CHRE

3. HaqAB, C ARE
4.HaAA, BIAHRD

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22937]
2[Option ID=22938]

3[Option ID=22939]
4[Option ID=22940]

Sl. No.111
QBID:12201011

While writing reports/manuscripts, researchers
sometime use the abbreviation 'fn’ which implies:

1. figure number

2. following number(s)
3. final note

4. footnote

(1)1
(2) 2
(3) 3
(4) 4

T Dl Mefdbdl Wiade-/ Uighiy feRad Trg &uEr n' (TH TH) BT TR ST & o 3D
Hﬁlﬂ'ﬂlﬁ

1. §&1-3®
2. 3adl 9=
3. 3ffm fewuft
4. UTg feoguoft

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=22941]
2[Option ID=22942]
3[Option ID=22943]

4[Option ID=22944]
|




Sl. No.112
QBID:12201012

Given below are two statements:

Statement |: Parametric tests cannot be applied to
ordinal or nominal scale data.

Statement II: Parametric tests do not suppose any
particular distribution and the consequential
assumptions.

In light of the above statements, choose the
correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true,

(1) 1
) 2
3) 3
(4) 4

EIEIAEAIE AT
T - | : WHafeT® GH&0 HHYE® a1 AIHeS UAH & SAids! H SI0gad Tel g o 9@ gl
DY - 11 : Udicidh G161 fordli fafRIy faawur iR dcil ol &1 U Tg1 &d ¢ |
U BYAl & el H HafaRad fawel 5 9 98 Iw g ;

1. @Y | 3R 11 SFT 9ET §

2. %Y 1 AR 11 G e g

3. @Y | Tl &, forq @Y 1 TEd B

4. U A ¢, g B I T B

(1)1
(2) 2
(3) 3
(4) 4
1[Option ID=22945]
2[Option ID=22946]

3[Option ID=22947]
4[Option ID=22948]

Sl. No.113
QBID:12201013

One of the main advantages of online survey based
research is

1. lessened ethical requirements.

2. a reduced need to provide debriefing and
clarification to participants after completion
of survey.

3. participants can discontinue if they feel
uncomfortable at any stage of survey.

4. a better understanding by participants of
informed-consent issues.




1) 1
(2) 2
(3) 3
(4) 4

HITeTS JA&T0T 21 e & e gardi ¥ 3 U6 &

1. ®H A SHUETY

2. Gd&vT & Q1 g & &16 WAl bl Ya-1 3R TEIDHRU UGH &3 &I Saxgddl H bl
3. 3FR Y& o fardl TRUI OR WIAHF SUEs He g™ ®d & dl d Hdal ¥ 3¥ad sl 9dd ol
4. Sgfad-Hidld & gl @1 WaHIRE gRI sgR 999

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22949]
2[Option ID=22950]

3[Option ID=22951]
4[Option ID=22952]

Sl. No.114
QBID:12201014

The requirement in research that specifies that
researchers must notify participants about the
nature of participation research and any risks
involved, is known as

1. Anonymity

2. Confidentiality

3. Informed Consent
4. Coercion

1) 1
() 2
(3) 3
(4) 4

MY S H MY Y Geferd Wauirgl & Ufauiiar & 90, Uhid, Ty 991 396 SRgd ¥ 3Erd
DRI B SHUEH gl & o Pl Al e:

1. SFHA
2. O
3. Ogfud Wil
4. 90 WG

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22953]
2[Option ID=22954]

3[Option ID=22955]
4[Option ID=22956]

Sl. No.115
QBID:12201015




Given below are two statements:

Statement |: In web based survey research, it is an
advantage that the investigator does not have to
be present when a participant is interested in
engaging in the task.

Statement II: In web based survey research, it is

a disadvantage that the investigator is not present
to provide clarify/remove doubts when

the participant is interested in engaging in the task.

In light of the above statements, choose the most
appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are
incorrect.

3. Statement | is correct but Statement Il is
incorrect.

4. Statement | is incorrect but Statement Il is

correct.

(1) 1
) 2
3) 3
(4) 4

TY - | : OF TR Fa&0T e H 3-3uD B U Ty T8 & old BIg U 56 A H e
B € O 3T B 39 GHY SURYd T8l 81 USdl 21

DY - 1| : dF 11T JA&T ITe H YD Bl Ig HATH & B Y& S H YEferd 8- & 33®
yfauiiTal &f Wydly Y6 THYH & fau soue Jufyd el gldr gl

SWad HYA[ & HIcie | FfRad f[adbedl § 4 98l I g -
1. ®YF | AR 11 TF 98l el
2. Y| IR I GHT AT &

3. @Y | Hel g, fareg YA 11 TTad g
4. Tad T, g I I TE B

1)
(2)
(3)
(4)

A W N R

1[Option ID=22957]
2[Option ID=22958]
3[Option ID=22959]
4[Option ID=22960]

Sl. No.116
QBID:12201016




Communication is a dynamic process across

. The meta universe
. Inanimate phenomena
. Varied situations

W o —

. Specific populations only

(1) 1
(2) 2
3) 3
(4) 4

o FgfEiag & O feras ue nfaeiia ufear s -

. TR-sidd afvgestt gAae Bamm o
fafay ufefufout &
4. g Ay SgwEmel o

2
3

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=22961]
2[Option ID=22962]

3[Option ID=22963]
4[Option ID=22964]

Sl. No.117
QBID:12201017

The first World War was a stimulant for the
development of

. Radio

. Films

. The Press

. The Internet

o P —

1

2 2

3) 3

(@) 4

T fauyg Fofafed © 4 o e & & S5ue un
1. 3fEat

Bowo

A ﬁ)ﬂj
Erl

A

A

[

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22965]
2[Option ID=22966]

3[Option ID=22967]
4[Option ID=22968]




Sl. No.118
QBID:12201018

In communication, the three major areas of analysis
are:

A. particularism
B. semiotics
C. syntactics
D. programatics
E. virtual reality

Choose the correct answer from the options given
below:

1. A B and C only
2.B,Cand D only
3.C,Dand E only
4. A, D and E only

1) 1
() 2
3) 3
(4) 4

TN H =yl & oiF U & 1 5?

A. fafpararg

8. Heopafaw

C. g faarg fagm

D. BHHHAG

£ HTHTE gury

i< feu e fasedl 4 9 981 IR 94 -
1.Had A, B3R C
2.%4qq B, C 3R D

3. ®WaAC, D ARE
4. HadA DA E

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22969]
2[Option ID=22970]

3[Option ID=22971]
4[Option ID=22972]

Sl. No.119
QBID:12201019




To be effective, classroom communication must be
A. Top down

B. Analytical

C. Unresponsive

D. Adjustable

E. Progressive

Choose the correct answer from the options given
below:

1. A B and C only
2.B, Cand D only
3.C, Dand E only
4.B,D and Eonly

1) 1
(2) 2
(3) 3
4) 4

qyTdt 84 & oY wan-der g & 9 g afeu
A, ST

B. fazciuumeT®

C. dufafdhania

D. GHEY

E. Wi

o feu U fadeal H U Ugl IR 94 -

1.BaAAA, B AR C
2.%dq e, CHR D
3.HadC, DR E
4.%ad B, D3R E

(1)
(2)
(3)
(4)

A W N =

1[Option ID=22973]
2[Option ID=22974]
3[Option ID=22975]
4[Option ID=22976]

Sl. No.120
QBID:12201020




Given below are two statements:

Statement |: The Internet has provided new
communication channels to youngsters in societies
that are socially conditioned.

Statement IIl: The new media can be used for
harmless fun and entertainment, but otherwise
also.

In light of the above statements, choose the
correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement Il is true,

1) 1
(2) 2
(3) 3
(4) 4

BERAGIE AR
HYF - | G T I IPicd GHrel J ge34e 3 aT figl &1 ¢ ¥R 77 G B

FYF - 1 ; TC A10H BT YN B-Riad ATHG-THG AR FARe $ 08 [&a1 o 9@ ¢ | dfe- 98
gyt i g T g

Iudad dyEl & aie | FgfaRad fGeddl F 9 98 3o g -
1. BYT 1 AR 1 EHTFE '
2. YT AR I GHI Tad &

3. HYF 1 el g, fooeg YA 11 TTad B
4. Y1 7TAd & , fb=g By 11 98T 21

(1) 1
) 2
3) 3
(4) 4
1[Option ID=22977]
2[Option ID=22978]

3[Option ID=22979]
4[Option ID=22980]

Sl. No.121
QBID:12201021

In a bookshop, 40% of the books are in English.
QOut of the remaining books 60% are in Hindi. The
remaining 3600 books are in other regional
languages. Find the total number of books in the
bookshop.

1. 15,000
2. 16,000
3. 18,000
4, 20,000

1) 1




(2) 2
(3) 3
4) 4

JEI®] D1 TF GHM H 40 9% TP ISl # 71 581 58 THP! 31 60 % & 7T 1 A0 4l 3,600 THidb
3470 8T TS 3 81 T 1 T A o TR T 7

\

15,000
16,000
18,000
20,000

[ T R S ey

(1)
(2)
(3)
(4)

A W N =

1[Option ID=22981]
2[Option ID=22982]
3[Option ID=22983]
4[Option ID=22984]

Sl. No.122
QBID:12201022

Find the value of the following expression:

52 x52—-25 x25
7Tx27

20.79
120.25
20.75

20.50
3.2

(1)
(2)
(3)
(4)

A W N =

fFafiad oisie & A @1 Udl TSy

1)
(2)
(3)
(4)

A W N =

1[Option ID=22985]
2[Option ID=22986]
3[Option ID=22987]
4[Option ID=22988]




Sl. No.123
QBID:12201023

If Ais an integer, then which of the following
statement(s) is/are true?

A. A+1 will be odd
B. A2+2 will be odd
C. A+2 will be odd
D. 2A-1 will be odd
E. A%+1 will be odd

Choose the correct answer from the options given
below:

1. A and B only
2. A Band Conly
3.D and E only
4. D only

1)
(2)
(3)
(4)

A W N R

% A U@ TN &, df FEfiea § 9 @F 9/8 Y9 Td 8/8?
A A+1 T fqus a1 gl
B. AZ+2 Ud fawH e ghit
C. A+2 U fawH der gt
D. 2A-1 U fawd G= il
E. Al+1 U@ fqug d@= Bt
i< feu aTu fawedl 5 9 98l 3w g -
1.Ha0 A R B
2. BadA, B AR C

3. ®ad D AR E
4.HaAD

1)
(2)
(3)
(4)

A W N R

1[Option ID=22989]
2[Option ID=22990]
3[Option ID=22991]
4[Option ID=22992]

Sl. No.124
QBID:12201024




If the fractions 2/5, 3/8, 4/9, 5/13 and 6/11 are
arranged in ascending order of their values, then
which of the fractions will be the third in the
ordered sequence?

1.2/5
2.4/9
3.5/13
4.3/8

1)
(2)
(3)
(4)

A W N R

ofe fi=f 275, 3/8, 4/9, 5/13 3R 6/11 @ 3k AF & HRIel HH H O01 9 dl 39 &5 H dER
R R ®F 91 fig ghme

1.2/5
2.4/9
3.5/13
4.3/8

1)
(2)
(3)
(4)

A W N R

1[Option ID=22993]
2[Option ID=22994]
3[Option ID=22995]
4[Option ID=22996]

Sl. No.125
QBID:12201025

If in a coded language, 154" means 'Good

and Tasty’; '4 6 8 means ‘See Good Pictures’; and "6
2 9" means 'Pictures are Faint’. then which of the
following digit stands for 'See'?

1.9
2.8
3.4
4.6

1)
(2)
(3)
(4)

A W N R

OfE Tt e YT & 154° &1 3 3= iR WIEy:, 469 &7 o B <@ 38 fa, ofi ‘620" @1
Hf g o € dya, O Fofafea & @ o e <ar o1 Rfdy seare?

1.9
2.8
3.4
4.6




(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=22997]
2[Option ID=22998]

3[Option ID=22999]
4[Option ID=23000]

Sl. No.126
QBID:12201026

"Does the distinguished Member of the Parliament
really believe that the Indian public is so naive that
they will endorse just any stopgap measure™?
Which fallacy is committed in the above
arugument?

1. Begging the question
2. Red Herring

3. Appeal to Ignorance
4. Complex Question

(1) 1
(2) 2
3) 3
(4) 4

T HF1T TG 965 aRad | G4 @ § [ YR & aFl 3o+ HId-Hd & o d [t +ft
FHHFANS UM BT TAYT HL12 IWRIad HUA H 50 ISR &1 dham &2

1. HIETHT G

2.3 el

R B IR EGIR AR IDES
4. BauY

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=23001]
2[Option ID=23002]

3[Option ID=23003]
4[Option ID=23004]

Sl. No.127
QBID:12201027

If the statement - "Some pandas are herbivorous
animals”, is given as true, then which of the
following statements can be immediately inferred
to be false?

1. No pandas are herbivorous animals.
2. All pandas are herbivorous animals.
3. Some pandas are not herbivorous animals.
4. All herbivorous animals are pandas.

1) 1
(2) 2
3) 3




(4) 4

% Y S Uie] MBRR TR & & I & 0 1 G g, ad FufafGa d d s @
DU @A &7 Y 9 8iH & ©U H SJHIAd (61 S gad 82

1. @13 i OIS MHRR T T8l &
2. v UTST METRRI TR |

3. DB UIS] ASERI SR 781 8 |
4. Tl AFPRR TER Ui B

1)
(2)
(3)
(4)

A W N =

1[Option ID=23005]
2[Option ID=23006]
3[Option ID=23007]
4[Option ID=23008]

Sl. No.128
QBID:12201028

Which of the following statements are so related
that they cannot both be false, although they may
both be true?

A, All mushrooms are fungi.

B. No mushrooms are fungi.

C. Some mushrooms are fungi.

D. Some mushrooms are not fungi.

Choose the correct answer from the options given
below:

1.Cand D only
2. A and B only
3. A and Conly
4.B and D only

1)
(2)
(3)
(4)

A W N R




FafaRad # 9 ®H-1 Y9 38 UOR 9 9419 § (& d H1 U 91y 3480 Tl 5l 9od; 990 d aHl
T &l 9dhd o7
A. T AT 9 2
5. ®13 *ff TR Haw Te &
C.PS HREH had g |
D. TS U HaP el &
Tt e H A wE I A -
1.@®dd C IR D
2. dd A 3R B

3. HAAA AR C
4.%dd B 3R D

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=23009]
2[Option ID=23010]

3[Option ID=23011]
4[Option ID=23012]

Sl. No.129
QBID:12201029

Which of the following statements are logically
equivalent?

A. Some plants are non-fungi.

B. Some plants are not fungi.

C. Some fungi are plants.

D. Some non-fungi are not non-plants.

Choose the correct answer from the options given
below:

1.B, Cand D only
2.B and C only

3.A Cand D only
4. A Band D only

OR!
(2) 2
3) 3
(4) 4




ufdiad ®H-4 $u- diihe U I 90 &7

A DS Ul TR-$ad g

B. 5% Ut Ha® T8l |

C. $3 Hdd YU E|

D. $% R-®a®, IR-UI4 5l ¢

i< feu e fawedl 5 9 98l 3w 9 -
1.®aa B, C AR D
2. %90 B AR C

3. ®WadA, C3RD
4. HAdAA B AR D

1)
(2)
(3)
(4)

A W N R

1[Option ID=23013]
2[Option ID=23014]
3[Option ID=23015]
4[Option ID=23016]

Sl. No.130
QBID:12201030

According to classical Indian School of logic
(Nyaya) which of the following steps of inference
(anumana) corresponds to application (upnaya)?

A. That mountain has fire.
B. Whatever has smoke has fire, e.g. an oven.

C. That mountain has smoke such as is invariably
accompanied by fire.

D. Because it has smoke.
E. Therefore that mountain has fire.

Choose the correct answer from the options given
below:

1. C only
2. Aonly
3.Cand Eonly
4. D only

1)
(2)
(3)
(4)

A W N R




YR AR 10 Hd & SHHR FEiciRad & 91/ TRkl 300 & 95Fl g/8 2
A U TEd R 3B

B. STgl-wTal 43I §, 98] 9o 3§, Y Ieall

C. 39 Udd W 43{l § i1 b 3R U & Ty HRuare-3y ° faemM @@oy) Edl g
D. T 39 TR Y3 &1
E. SHfY 39 Udd UX 3T &
i< feu 7Tu fadedl 5 9 98l SR 9 -
1. ®da C
2. Had A

3. HaACIIRE
4.%ad D

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=23017]
2[Option ID=23018]

3[Option ID=23019]
4[Option ID=23020]

Sl. No.131
QBID:12201031

Tina has bought a 4 gigabyte MP3 player. If each
song lasts 3 minutes and is recorded at 128 kilo
bits per second, then how many songs can be
stored on Tina's MP3 player?

1. 1156
2.1256
3.1356
4.1456

(1) 1
(2) 2
(3) 3
(4) 4

A1 U@ 4 TS & MP2 WER TG 3 Uad 7fid 3 fiFe 9@ audr g 2R 128 [Eaifee ufa-
YhUg B g2 W T8 o 911 : da SH1 & Mp3 IR ¥ g+ 1ial & dufed g s g&dn g 2

1. 1156
2.1256
3. 1356
4. 1456

1)
(2)
(3)
(4)

A W N =

1[Option ID=23021]
2[Option ID=23022]




3[Option ID=23023]
4[Option ID=23024]

Sl. No.132
QBID:12201032

Which of the following statements about email are
TRUE?

A. You can create folders to store and organise your
emails.

B. Using the Cc feature will hide all other recipients
from each other.

C. You can add attachments of any file size to an
email.

D. You can add signatures to your emails to give
personal contact details.

E. You can only send emails from a laptop
computer.

Choose the correct answer from the options given
below:

1. A and B only
2.Aand Conly
3. A and D only
4.B, C and E only

1)
(2)
(3)
(4)

A W N R

3-He & 9N H Fafeiad o19-4 y9 9d 87
A 30 304 3-09 &1 Y8 $H- Ud YoHard &3 & Bics? &1 9dd &
8. T Tt (Cc) FaRmaT (BER) &1 R Tt 37 Uradbdisi &1 Uh-gar 4 i &
C. 3 fordt 3-0a o fpdt off oaR ardl BiEd & siegte (Haud)) & Jdg o1 (91s) Tdhd ol
D. 1Y f-¥ofl Yudh [0 UgH gq U+ 3-Hd H §xI&R & Jai¥ (J1s) &% Jdbd ¢ |
E. 314 thad cidely § g1 3-Ha Uihd &2 Havd gl
=< feu 7Tu fadedl 5 9 981 SR 9 -
1. ®ad A 3R B
2. Bad A R C

3. HIdA AR D
4.HaAB, C ARE

1)
(2)
(3)
(4)

A W N R

1[Option ID=23025]
2[Option ID=23026]




3[Option ID=23027]
4[Option ID=23028]

Sl. No.133
QBID:12201033

Given below are two statements:

Statement I: .ixt, .rtf and .csv are three file
extensions used for generic text files.

Statement II: .rar file extension is an acronym for
Roshal ARchive; deveoped by Russian software
engineer Eugene Roshal.

In light of the above statements, choose the
correct answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement Il is true,

(1) 1
(2) 2
(3) 3
(4) 4

TY - 1: txt, rtf AR csv T TS () BIRdl og WIad oiH aIdl oF Bled UaeeH (AER) 2|

DU - 1l : _rar BIS0 UGICTH AT Hdbigd B URAT et ¢ ol ST WA eill-ER goiH
e A fawita e uni

U BYAl & e J FafaRed G H 9 98 Iwm g
1. YT | AR 11 EH T B
2. %Y | AR 11 G Tad & |
3. @Y | el g, faeg YA 11 TTad g
4. YA | TTe7d &, T BYA 11 HE B

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=23029]
2[Option ID=23030]

3[Option ID=23031]
4[Option ID=23032]

Sl. No.134
QBID:12201034

Which one of the follwing acronyms matches
incorrectly with their full form?

1. VolIP - Voice Over Internet Protocol

2. WLAN - Wired Local Area Network

3. HTML - Hyper Text Markup Language

4. CMQS - Complementary Metal Oxide
Semiconductor

1 1




) 2
3) 3
(4) 4

frafaied 3 9 o191t uRavil 2eg 310 gui-149  TTefd Hid 8§ AR &7

1. VolP = G139 3TaX FUeTE U@

2. WLAN = G108 didd TRl "ead

3. HTML = BTOUR ¢aRe AId 3] ddd

4. CMOS = BifEH] Jed 3fazs SHdbsaet

1)
(2)
(3)
(4)

A W N R

1[Option ID=23033]
2[Option ID=23034]
3[Option ID=23035]
4[Option ID=23036]

Sl. No.135
QBID:12201035

|dentify the correct order of the following memory
types in decreasing order of access time.

A RAM

B. 55D

C. CPU Cache

Choose the correct answer from the options given
below:

1.ACB
2.CAB
3.BCA
4.B,4 C

1)
(2)
(3)
(4)

A 3afy & raiet ®a | et 39 veR! & 9el-%9 o e s

A. RAM (IR T TH)

A W N R

B. SSD (TU Tg B))

C. CPU Cache (& U1 g &gl)

o fEu U fodheal 4 9 98 S g -
1.A,C B
2.CAB

3.B.CA
4.B,A C

1) 1
(2) 2
(3) 3




(4) 4

1[Option ID=23037]
2[Option ID=23038]
3[Option ID=23039]
4[Option ID=23040]

Sl. No.136
QBID:12201036

Which of the following Millenium Deveopment
Goals (MDGs) had the highest number of targets?

1. Goal 5 : Improve Maternal Health

2. Goal 6: Combat HIV / AIDS

3. Goal 7 : Ensure Environmental Sustainability

4. Goal 8 : Develop a Global Partnership for
Development

1) 1
(2) 2
3) 3
(4) 4

FofaRad Ueare] fae™ Se3af (Tq 21 o) § ¥ fad <ifiean dsg o7

1. 35%4 5 : HIgP @ H IR

2. 357 6 : Udeilzdl / USH ¥ aTadl

3. 3584 7 : A1 Yaddl gHET S

4,359 ¢ : (G @ fou afys wrfled fasfa &<

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=23041]
2[Option ID=23042]

3[Option ID=23043]
4[Option ID=23044]

Sl. No.137
QBID:12201037

Which of the following diseases are caused by
atmospheric particulate matters?

A. Asthama

B. Melanoma

C. Dry Eye Syndrome

D. Bronchitis

E. Chronic Obstructive Pulmonary Diseases (COPD)

Choose the correct answer from the options given
below:

1. A B, Cand D only
2.B,C, D and E only
3.A C DandEonly
4. A B, DandE only




1) 1
(2) 2
(3) 3
(4) 4

Frafafad # € @1 9 I TgHS Y SiUe g el & BRI Bl 82
AGH
B. HeHHEl
C. @I i@ Jagm
D. 4Tl Ty
£. eR@1fed a1ud Brpd I (@l 3 di )
i< feu e fasedl 4 9 981 IR 94 -
1.Had A, B, C3R D
2.%4q0B,C, D IARE

3.®BAAA, C, DIIRE
4.9 A, B, DARE

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=23045]
2[Option ID=23046]

3[Option ID=23047]
4[Option ID=23048]

Sl. No.138
QBID:12201038

Given below are two statements:

Statement I: Amount of oxygen dissolved in water
is a good indicator of water quality and of the kinds
of life it will suppport.

Statement Il: Chemical Oxygen Demand (COD) is a
measure of dissolved oxygen consumed by aquatic
microorganisms.

In light of the above statements, choose the
correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement |l are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1) 1
(2) 2
3) 3
4) 4




T - | - oI H gel o &1 O Jd &) UIad] 3R 396 gRI 991id oiad & UeR! &1 ie
I Hbad gl

DY - 1| : IS AR T (@l 31 SY) Sy gersiiadl gR1SUHN S T3 ol g3 Ao
3 AUS g

Iudad dyHEl & aie | Fefaiad Geddl F 9 98 39 g -
1. @Y | 3R 11 GH 981 8l
2. YT AR I GHI Tad g

3. @Y | Hel g, faeg YA 11 Tad g
4. @ T T, g I I TR B

(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=23049]
2[Option ID=23050]

3[Option ID=23051]
4[Option ID=23052]

Sl. No.139
QBID:12201039

Given below are two statements:

Statement I: Reactor is the heart of any nuclear
power plant.

Statement II: In case of nuclear power plants,
except the reactor, the technology is exactly similar
to any other fossil fueled power plant.

In light of the above statements, choose the
correct answer from the options given below:

1. Both Statement | and Statement Il are true,
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true,

1) 1
(2) 2
3) 3
(4) 4




T - | ; Ruge foodt +ff Tiftieig Fofl 997 o1 gcg giar |

FYF - 1| TS Hoil G471 & qa 5, Wogex & Ram g gt O o= Sfiarsy 339 9 9eq
ard Hoit Y43 & IH B 8l

Sudad @Al & ai® § FufaRad el § 3 wel S A -
1. BT 1 AR 1 SHT I '
2. YA | AR 11 GFT AT B

3. @Y | Tel &, forq @Y 11 TTAd 8
4. U T ¢, g B I T B

1)
(2)
(3)
(4)

A W N =

1[Option ID=23053]
2[Option ID=23054]
3[Option ID=23055]
4[Option ID=23056]

Sl. No.140
QBID:12201040

Which one of the following pollutants is
responsible for acid rain formation?

1. CHy (Methane)

2. CgHg (Benzene)

3. 50; (Sulphur dioxide)
4. CO ( Carbon monoxide)

1)
(2)
(3)
(4)

fufeiRad o 9 & 1 Ughd 3%y aui i I91 & e S<Rer 82

1. CHy (Fi19)
2. CgHg (dSiF)
3. 50, (S7P 313 HFES)
4. CO (@Te AT AFES)

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=23057]
2[Option ID=23058]
3[Option ID=23059]
4[Option ID=23060]

Sl. No.141
QBID:12201041




As per NEP-2020, for offering a 4-year integrated
teacher preparation programme, all the Teacher
Education Institutions (TEls) will be required to
convert to multidisciplinary institutions by:

1. 2030
2.2040
3. 2025
4. 2035

(1) 1
(2) 2
(3) 3
(4) 4

T3 & Fifd-2020 & YR, Ud 4 T GHdd 46 ORI SHEH S LS B od 94l
e e GRmr (@ S o) & 95-0we Y™Hl & w0 § Fgifed a9 ad oo afafdd &
BT

1. 2030
2.2040
3. 2025
4. 2035

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=23061]
2[Option ID=23062]

3[Option ID=23063]
4[Option ID=23064]

Sl. No.142
QBID:12201042

Find out the names of ancient Indian universities
whose names are mentioned in NEP 20207

A. Nalanda

B. Takshashila
C. Mithila

D. Valabhi

E. Vikramshila

Choose the correct answer from the options given
below:

1.C, D and E only
2.A, B, Cand E only
3.A B, D and E only
4. A, Band D only

1 1
(2) 2
3) 3




(4) 4

T3 fren =fifa 2020 & Sfcafaa wRiF YR Ayt & 9 &f 91d S|
A, FTE
B. TaIfaran
c. fafdar
D. gaHt
. et
<< feu e fadeal & 4 9l SR 94 -
1. ®aa C, D R E
2.%ad A, B, C ARE

3. BIAA, B, D AR E
4. HAAA, B IR D

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=23065]
2[Option ID=23066]

3[Option ID=23067]
4[Option ID=23068]

Sl. No.143
QBID:12201043

Which of the following universities were
established under the provision of the Acts of
incorporation passed by the governor-general and
Viceroy Lord Canning, in January 1857.

A, Calcutta
B. Panjab

C. Madras
D. Bombay

Choose the correct answer from the options given
below:

1. A and D only
2. A, Band Conly
3.A Cand D only
4. A B, CandD

(1) 1
(2) 2
(3) 3
(4) 4




TE-R-973d Ud a9l dl8 &1 gRI w-ail 1957 H U1id Y e ge9eH & <ifaFgaf & Jusy
@ Jiqrid FafiRad ®F-Y fayfaenaal of =g &1 1 A

A. eIl

B. ol

C. Hal¥

D. g

i< feu 7Tu fadedl 5 9 98l IR 9 -
1. ®ad A 3R D
2. Bad A, BIHR C

3. AT A, C3MRD
4.A B,C3HRD

(1)
(2)
(3)
(4)

A W N R

1[Option ID=23069]
2[Option ID=23070]
3[Option ID=23071]
4[Option ID=23072]

Sl. No.144
QBID:12201044

How many regional centers of UGC are there in
India?

1. Four
2. Five
3. Six
4. Eight

(1)
(2)
(3)
(4)

YRA & g ot I & o & g &7
1.9R
2.019

ENH
4. 313

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=23073]
2[Option ID=23074]
3[Option ID=23075]
4[Option ID=23076]

Sl. No.145
QBID:12201045




National Programme on Technology Enhanced
Learning (NPTEL) is the largest online repository in
the world of courses in:

A. Yoga and Meditation

B. Engineering

C. Visual Arts

D. Basic Sciences

E. Selected Humanities and Management Subjects

Choose the correct answer from the options given
below:

1. A CandE only
2.B and C only

3.B, D and E only

4. A, B, Cand D only

1)
(2)
(3)
(4)

A W N R

TIenTes! Haiila i W AP SRieH (03 U €1 S 1) fay 6 ureasHl &1 9ad 91 Sl
e &
A TR 3R &
B. HTHTIE®I
C. ER0 Fay
D. Hayd Tz
E. ifeT AFTE®! SR UeeH fawg
=< feu 7Tu fadedl 5 9 981 SR 9 -
1. ®ad A, C3RE
2. %aa B R C

3.%ad B, D AR E
4. BATAA, B, C HR D

(1)
(2)
(3)
(4)

A W N R

1[Option ID=23077]
2[Option ID=23078]
3[Option ID=23079]
4[Option ID=23080]

Sl. No.146
QBID:12201046




Read the following passage and answer the
question:

As adults we develop a complex set of
emotional expressions and perceptual
understanding of our own and other's emotional
states. Infants appear to have two innate
rudimentary emotional arousal responses to stimuli
referred to as approach and avoidance. The infant's
emotional life consists of little more than these two
arousal states, an attraction to pleasant stimulation
therefore eliciting approach and withdrawal or
avoidance of unpleasant stimulation. Given that this
is the nature of emotional arousal the new-born
arrives equipped with, the approach avoidance
response makes perfect evolutionary sense. This is
all the new-born needs at this juncture in their
lifespan development. It might also suggest that
infants are born with an innate understanding of the
meaning intended in the emotional facial
expressions of others. Hence if the caregiver adopts
a playful posture and conveys a happy facial
expression, then the infant will be in an approach
arousal state and most likely respond positively by
mirroring the expression portrayed. The opposite
also applies, however, where parents adopting a
despondent posture are likely to initiate an
avoidance arousal state in the infant. Under these
circumstances the infant will feel uncomfortable and
will want the situation to change. In an avoidance
arousal state the infant will exhibit behaviours
designed to provoke a change in the parents
behaviour such as crying and ‘pick-me-up’ gesturing
or sucking an object such as a pacifier or the edge of
a blanket. A continuation of parental despondency
could have serious consequences for the infant's
normal socioemotional development. This could
cause, alterations to the infant's sleeping patterns
and increase levels of irritability, anger and
anxiousness. An infant's avoidance of aversive
situations is limited due to their immature motor
development, so they resort to simple avoidance
tactics such as turning the head, gaze avoidance and
crying. These types of behaviours are attempts at
modulating  their emotional arousal state.
Meodulation or emotional self-regulation refers to
the strategies we use to adjust our emotional state
to a level of intensity we feel comfortable with.




Frafifem T B T TR SR e ure w9 AR

UF e & ©Y H gH U4 WY @ daMae ifYefgan R ofRd d@iv ud g @t
Yamd® el &1 Ue ¥y ugf @ oo™ o3 &1 B ¥ o e seufsfia damers
TgltE @I Rpa1 Bl & o 3T Bl & ford U R iR oRaey aReR & U ¥ defifa
fara e 1| Ry & Wae® ofiad & 34 &l 3gieHl U HUd 38 3R 311 5: U Widd JeR &
U 3EU, 39 HRU ITFH R TARR 1 AHifdeH: ISR &1 uReR Fwhta: Ui 81 8| 599
UK 211 8 & 398 YaeE® 3gieH @I USd & R US Ag9d H [GEEHE el 8, SUFH-URER
e oot w1 famra Yae1 Fftla &l §1 78 6 a9 @1 HGGHAY & HR 3 wiad udd
fae &1 g 31 g8 i gIna fEar o el § 6 T9ea gl @ Yames oA sifiefa
¥ ffgd ol & “wfife iRl & @1y Ual Bid & | SHia Ii¢ caHIeddl [d-ieia i sH1d1 8
HR UTHARId S HYfdd @xal & a9 2] i IgiYAes SRl & SUNTH B 8RN AR S
Hfreafdd @1 uiafee $id 80 UE: 9ORES ¥4 9 fHa $n 79t 39¢ ol of 8 9@ar
21 o Ha-fuar sEEegy Ui ¥ 8 99 g § uRer S @ R e & 2
37 uRfRfEl & fria RIS ofie Tegd o iR T o aRkacH &1 918 &) 9Rer SaeF fe
3 ¥ RRrg] Arer-fir Sfine® & ogaer o giad & T ey o Tafkid deR! i e,
T TG H IS1al BT Ydbad AT a%g ol AHS g1 had o (-1 DI I BT FIRT Bl g | HIdI-Uar
& Udd HaUIG Bl 2] & YHF THIND-HdeATH® [ddd IR TR YT Us Iadl el 33 g &I
e ugfa @A wiawu) fasfasoa & wR | 9fg, ®iy quT fi<ausadr 5 uRad- 81 9adl 81 U 2]
B! Ufaea [ufaa! 1 uReR iftd § Tife SHe IRIRS e uius g €, 39T 3 9
IRER il oY R 991, U@ P ¢@d gu URER Wefkid 1 3R e & ZagR & UeRl od
8 deRl & U U Jd Hdaldd Igltd IR & Sghad & WM g 3dad I Yaeld
AFEEA &1 e 37 Wil & o e ol § oFR@ oue @1 989 7e9d &3 8 0
LT diadl R &1 GHEIRd B & [od gH JaR &d o

The above passage has most likely been taken from
a text on

1. Human Biclogy

2. Parent Education

3. Emotional Development
4. Children Upbringing

(1) 1
(2) 2
(3) 3
(4) 4

IULd T HallUe dHaadl fd e § fagr mang?

1. AFd g fagmH

2. Ora1-fudn (3iftrurads) fuan
3. Hamd® fadprg

4. §=A] BT UTaH-91mo

(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=23081]
2[Option ID=23082]

3[Option ID=23083]
4[Option ID=23084]

Sl. No.147
QBID:12201047




Read the following passage and answer the
question:

As adults we develop a complex set of
emotional expressions and perceptual
understanding of our own and other's emotional
states. Infants appear to have two innate
rudimentary emotional arousal responses to stimuli
referred to as approach and avoidance. The infant's
emotional life consists of little more than these two
arousal states, an attraction to pleasant stimulation
therefore eliciting approach and withdrawal or
avoidance of unpleasant stimulation. Given that this
is the nature of emotional arousal the new-born
arrives equipped with, the approach avoidance
response makes perfect evolutionary sense. This is
all the new-born needs at this juncture in their
lifespan development. It might also suggest that
infants are born with an innate understanding of the
meaning intended in the emotional facial
expressions of others. Hence if the caregiver adopts
a playful posture and conveys a happy facial
expression, then the infant will be in an approach
arousal state and most likely respond positively by
mirroring the expression portrayed. The opposite
also applies, however, where parents adopting a
despondent posture are likely to initiate an
avoidance arousal state in the infant. Under these
circumstances the infant will feel uncomfortable and
will want the situation to change. In an avoidance
arousal state the infant will exhibit behaviours
designed to provoke a change in the parents
behaviour such as crying and ‘pick-me-up’ gesturing
or sucking an object such as a pacifier or the edge of
a blanket. A continuation of parental despondency
could have serious consequences for the infant's
normal socioemotional development. This could
cause, alterations to the infant's sleeping patterns
and increase levels of irritability, anger and
anxiousness. An infant's avoidance of aversive
situations is limited due to their immature motor
development, so they resort to simple avoidance
tactics such as turning the head, gaze avoidance and
crying. These types of behaviours are attempts at
modulating  their emotional arousal state.
Meodulation or emotional self-regulation refers to
the strategies we use to adjust our emotional state
to a level of intensity we feel comfortable with.




Frafifem T B T TR SR e ure w9 AR

UF e & ©Y H gH U4 WY @ daMae ifYefgan R ofRd d@iv ud g @t
Yamd® el &1 Ue ¥y ugf @ oo™ o3 &1 B ¥ o e seufsfia damers
TgltE @I Rpa1 Bl & o 3T Bl & ford U R iR oRaey aReR & U ¥ defifa
fara e 1| Ry & Wae® ofiad & 34 &l 3gieHl U HUd 38 3R 311 5: U Widd JeR &
U 3EU, 39 HRU ITFH R TARR 1 AHifdeH: ISR &1 uReR Fwhta: Ui 81 8| 599
UK 211 8 & 398 YaeE® 3gieH @I USd & R US Ag9d H [GEEHE el 8, SUFH-URER
e oot w1 famra Yae1 Fftla &l §1 78 6 a9 @1 HGGHAY & HR 3 wiad udd
fae &1 g 31 g8 i gIna fEar o el § 6 T9ea gl @ Yames oA sifiefa
¥ ffgd ol & “wfife iRl & @1y Ual Bid & | SHia Ii¢ caHIeddl [d-ieia i sH1d1 8
HR UTHARId S HYfdd @xal & a9 2] i IgiYAes SRl & SUNTH B 8RN AR S
Hfreafdd @1 uiafee $id 80 UE: 9ORES ¥4 9 fHa $n 79t 39¢ ol of 8 9@ar
21 o Ha-fuar sEEegy Ui ¥ 8 99 g § uRer S @ R e & 2
37 uRfRfEl & fria RIS ofie Tegd o iR T o aRkacH &1 918 &) 9Rer SaeF fe
3 ¥ RRrg] Arer-fir Sfine® & ogaer o giad & T ey o Tafkid deR! i e,
T TG H IS1al BT Ydbad AT a%g ol AHS g1 had o (-1 DI I BT FIRT Bl g | HIdI-Uar
& Udd HaUIG Bl 2] & YHF THIND-HdeATH® [ddd IR TR YT Us Iadl el 33 g &I
e ugfa @A wiawu) fasfasoa & wR | 9fg, ®iy quT fi<ausadr 5 uRad- 81 9adl 81 U 2]
B! Ufaea [ufaa! 1 uReR iftd § Tife SHe IRIRS e uius g €, 39T 3 9
IRER il oY R 991, U@ P ¢@d gu URER Wefkid 1 3R e & ZagR & UeRl od
8 deRl & U U Jd Hdaldd Igltd IR & Sghad & WM g 3dad I Yaeld
AFEEA &1 e 37 Wil & o e ol § oFR@ oue @1 989 7e9d &3 8 0
LT diadl R &1 GHEIRd B & [od gH JaR &d o

Given below are two statements, one is labelled as
Assertion (A) and the other is labelled as Reason
(R).

Assertion (A): An infant's avoidance of unpleasant
stimulations or situations is limited.

Reason (R): An infant is unable to decode the
emotions expressed from others’ faces.

In light of the above statements, choose the most
appropriate answer from the options given below:

1. Both [A) and (R) are correct and (R) is the
correct explanation of (A).

2. Both (A) and (R) are correct and (R) is the
correct explanation of (A).

3. (A) is correct but (R) is not correct.

4. (A) is not correct but (R) is correct.

1) 1
(2) 2
3) 3
4) 4




TG By RETEE : T @l 3@ (A) 3R G @ BRY (R) Bel T 5|

HTHHY (A) : U 28] & AU e SeiuA ar Rufeat &1 uiter it 21

DR (R) : U I T & dUes @1 GaTH® A ffad & faded @3- § sad gar g
Iuddd DYl & HIclld | HHildd [ddbedl H 4 el 9t g :

1. (A) 3R (R) TFI Uel & 3R (R), (A) BT Tel ARAT & |
2.(A) 3R (R) ST 981 § TR (R), (A) 1 Hel AR T2l 31
3. (A) W8I § W (R) 981 TRI &
4. (A) W8I Tel § IRq (R) el &

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=23085]
2[Option ID=23086]
3[Option ID=23087]
4[Option ID=23088]

Sl. No.148
QBID:12201048




Read the following passage and answer the
question:

As adults we develop a complex set of
emotional expressions and perceptual
understanding of our own and other's emotional
states. Infants appear to have two innate
rudimentary emotional arousal responses to stimuli
referred to as approach and avoidance. The infant's
emotional life consists of little more than these two
arousal states, an attraction to pleasant stimulation
therefore eliciting approach and withdrawal or
avoidance of unpleasant stimulation. Given that this
is the nature of emotional arousal the new-born
arrives equipped with, the approach avoidance
response makes perfect evolutionary sense. This is
all the new-born needs at this juncture in their
lifespan development. It might also suggest that
infants are born with an innate understanding of the
meaning intended in the emotional facial
expressions of others. Hence if the caregiver adopts
a playful posture and conveys a happy facial
expression, then the infant will be in an approach
arousal state and most likely respond positively by
mirroring the expression portrayed. The opposite
also applies, however, where parents adopting a
despondent posture are likely to initiate an
avoidance arousal state in the infant. Under these
circumstances the infant will feel uncomfortable and
will want the situation to change. In an avoidance
arousal state the infant will exhibit behaviours
designed to provoke a change in the parents
behaviour such as crying and ‘pick-me-up’ gesturing
or sucking an object such as a pacifier or the edge of
a blanket. A continuation of parental despondency
could have serious consequences for the infant's
normal socioemotional development. This could
cause, alterations to the infant's sleeping patterns
and increase levels of irritability, anger and
anxiousness. An infant's avoidance of aversive
situations is limited due to their immature motor
development, so they resort to simple avoidance
tactics such as turning the head, gaze avoidance and
crying. These types of behaviours are attempts at
modulating  their emotional arousal state.
Meodulation or emotional self-regulation refers to
the strategies we use to adjust our emotional state
to a level of intensity we feel comfortable with.




Frafifem T B T TR SR e ure w9 AR

UF e & ©Y H gH U4 WY @ daMae ifYefgan R ofRd d@iv ud g @t
Yamd® el &1 Ue ¥y ugf @ oo™ o3 &1 B ¥ o e seufsfia damers
TgltE @I Rpa1 Bl & o 3T Bl & ford U R iR oRaey aReR & U ¥ defifa
fara e 1| Ry & Wae® ofiad & 34 &l 3gieHl U HUd 38 3R 311 5: U Widd JeR &
U 3EU, 39 HRU ITFH R TARR 1 AHifdeH: ISR &1 uReR Fwhta: Ui 81 8| 599
UK 211 8 & 398 YaeE® 3gieH @I USd & R US Ag9d H [GEEHE el 8, SUFH-URER
e oot w1 famra Yae1 Fftla &l §1 78 6 a9 @1 HGGHAY & HR 3 wiad udd
fae &1 g 31 g8 i gIna fEar o el § 6 T9ea gl @ Yames oA sifiefa
¥ ffgd ol & “wfife iRl & @1y Ual Bid & | SHia Ii¢ caHIeddl [d-ieia i sH1d1 8
HR UTHARId S HYfdd @xal & a9 2] i IgiYAes SRl & SUNTH B 8RN AR S
Hfreafdd @1 uiafee $id 80 UE: 9ORES ¥4 9 fHa $n 79t 39¢ ol of 8 9@ar
21 o Ha-fuar sEEegy Ui ¥ 8 99 g § uRer S @ R e & 2
37 uRfRfEl & fria RIS ofie Tegd o iR T o aRkacH &1 918 &) 9Rer SaeF fe
3 ¥ RRrg] Arer-fir Sfine® & ogaer o giad & T ey o Tafkid deR! i e,
T TG H IS1al BT Ydbad AT a%g ol AHS g1 had o (-1 DI I BT FIRT Bl g | HIdI-Uar
& Udd HaUIG Bl 2] & YHF THIND-HdeATH® [ddd IR TR YT Us Iadl el 33 g &I
e ugfa @A wiawu) fasfasoa & wR | 9fg, ®iy quT fi<ausadr 5 uRad- 81 9adl 81 U 2]
B! Ufaea [ufaa! 1 uReR iftd § Tife SHe IRIRS e uius g €, 39T 3 9
IRER il oY R 991, U@ P ¢@d gu URER Wefkid 1 3R e & ZagR & UeRl od
8 deRl & U U Jd Hdaldd Igltd IR & Sghad & WM g 3dad I Yaeld
AFEEA &1 e 37 Wil & o e ol § oFR@ oue @1 989 7e9d &3 8 0
LT diadl R &1 GHEIRd B & [od gH JaR &d o

The angry face of a parent will most likely generate
which among the following responses in a new
born child.

A. Crying

B. A smiling face to pacify the parent.
C. Sucking the edge of a blanket .

D. 'Pick-me-up’ gesture.

Choose the correct answer from the options given
below:

1. A, B and Conly
2. A, Cand D only
3.B,Cand D only
4. A, B and D only

(1)1
(2) 2
(3) 3
(4) 4




HIAT-MUdT BT HIUHd A=A e Y Uh Aged 28] § & H-H Hitd Guifdd srfhar ude gril?
A, FaedrT

B. HTAT-fdT & 2id B3 &d TEPee W I

C. Had & [ DI LI

D. Hgl TMicl § Jaral @1 Habd

i< feu T fasenl 5 94 98 Iw g -
1.®ad A, B AR C
2.Had A, C 3R D

3. ®ad B, C AR D
4.%HadA BIARD

1) 1
(2) 2

3) 3

(4) 4

1[Option ID=23089]
2[Option ID=23090]

3[Option ID=23091]
4[Option ID=23092]

Sl. No.149
QBID:12201049




Read the following passage and answer the
question:

As adults we develop a complex set of
emotional expressions and perceptual
understanding of our own and other's emotional
states. Infants appear to have two innate
rudimentary emotional arousal responses to stimuli
referred to as approach and avoidance. The infant's
emotional life consists of little more than these two
arousal states, an attraction to pleasant stimulation
therefore eliciting approach and withdrawal or
avoidance of unpleasant stimulation. Given that this
is the nature of emotional arousal the new-born
arrives equipped with, the approach avoidance
response makes perfect evolutionary sense. This is
all the new-born needs at this juncture in their
lifespan development. It might also suggest that
infants are born with an innate understanding of the
meaning intended in the emotional facial
expressions of others. Hence if the caregiver adopts
a playful posture and conveys a happy facial
expression, then the infant will be in an approach
arousal state and most likely respond positively by
mirroring the expression portrayed. The opposite
also applies, however, where parents adopting a
despondent posture are likely to initiate an
avoidance arousal state in the infant. Under these
circumstances the infant will feel uncomfortable and
will want the situation to change. In an avoidance
arousal state the infant will exhibit behaviours
designed to provoke a change in the parents
behaviour such as crying and ‘pick-me-up’ gesturing
or sucking an object such as a pacifier or the edge of
a blanket. A continuation of parental despondency
could have serious consequences for the infant's
normal socioemotional development. This could
cause, alterations to the infant's sleeping patterns
and increase levels of irritability, anger and
anxiousness. An infant's avoidance of aversive
situations is limited due to their immature motor
development, so they resort to simple avoidance
tactics such as turning the head, gaze avoidance and
crying. These types of behaviours are attempts at
modulating  their emotional arousal state.
Meodulation or emotional self-regulation refers to
the strategies we use to adjust our emotional state
to a level of intensity we feel comfortable with.




Frafifem T B T TR SR e ure w9 AR

UF e & ©Y H gH U4 WY @ daMae ifYefgan R ofRd d@iv ud g @t
Yamd® el &1 Ue ¥y ugf @ oo™ o3 &1 B ¥ o e seufsfia damers
TgltE @I Rpa1 Bl & o 3T Bl & ford U R iR oRaey aReR & U ¥ defifa
fara e 1| Ry & Wae® ofiad & 34 &l 3gieHl U HUd 38 3R 311 5: U Widd JeR &
U 3EU, 39 HRU ITFH R TARR 1 AHifdeH: ISR &1 uReR Fwhta: Ui 81 8| 599
UK 211 8 & 398 YaeE® 3gieH @I USd & R US Ag9d H [GEEHE el 8, SUFH-URER
e oot w1 famra Yae1 Fftla &l §1 78 6 a9 @1 HGGHAY & HR 3 wiad udd
fae &1 g 31 g8 i gIna fEar o el § 6 T9ea gl @ Yames oA sifiefa
¥ ffgd ol & “wfife iRl & @1y Ual Bid & | SHia Ii¢ caHIeddl [d-ieia i sH1d1 8
HR UTHARId S HYfdd @xal & a9 2] i IgiYAes SRl & SUNTH B 8RN AR S
Hfreafdd @1 uiafee $id 80 UE: 9ORES ¥4 9 fHa $n 79t 39¢ ol of 8 9@ar
21 o Ha-fuar sEEegy Ui ¥ 8 99 g § uRer S @ R e & 2
37 uRfRfEl & fria RIS ofie Tegd o iR T o aRkacH &1 918 &) 9Rer SaeF fe
3 ¥ RRrg] Arer-fir Sfine® & ogaer o giad & T ey o Tafkid deR! i e,
T TG H IS1al BT Ydbad AT a%g ol AHS g1 had o (-1 DI I BT FIRT Bl g | HIdI-Uar
& Udd HaUIG Bl 2] & YHF THIND-HdeATH® [ddd IR TR YT Us Iadl el 33 g &I
e ugfa @A wiawu) fasfasoa & wR | 9fg, ®iy quT fi<ausadr 5 uRad- 81 9adl 81 U 2]
B! Ufaea [ufaa! 1 uReR iftd § Tife SHe IRIRS e uius g €, 39T 3 9
IRER il oY R 991, U@ P ¢@d gu URER Wefkid 1 3R e & ZagR & UeRl od
8 deRl & U U Jd Hdaldd Igltd IR & Sghad & WM g 3dad I Yaeld
AFEEA &1 e 37 Wil & o e ol § oFR@ oue @1 989 7e9d &3 8 0
LT diadl R &1 GHEIRd B & [od gH JaR &d o

Given below are two statements:

Statement I ‘Approach’ is an emotional arousal
response in an infant towards pleasant stimulation.

Statement Il: An infant has little understanding of
the emotions conveyed through facial expressions
of others.

In light of the above statements, choose the most
appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are
incorrect.

3. Statement | is correct but Statement Il is
incorrect.

4. Statement | is incorrect but Statement Il is
correct.

(1) 1
(2) 2
(3) 3
(4) 4




EIEEAEAIE AT R
@Y - | ; FUNH U ] H faie=iia ISR & Ui ST 3givq S3iear g
T - 11 : T AR Bl TR D1 A Hreafeal gR1 T0ftd ol &1 91y HH gl o
Iuge Pyl & e H HgfaRad Geedl § 9 98 3o g -

1. % 1 3R 1| GH 91 B

2. % | AR 1 S TTEd 2

3. @Y | 9l &, firrqg @Y 11 TEd B

4. T TTAd E , g YA 1 T8 B

(1)
(2)
(3)
(4)

A W N R

1[Option ID=23093]
2[Option ID=23094]
3[Option ID=23095]
4[Option ID=23096]

Sl. No.150
QBID:12201050




Read the following passage and answer the
question:

As adults we develop a complex set of
emotional expressions and perceptual
understanding of our own and other's emotional
states. Infants appear to have two innate
rudimentary emotional arousal responses to stimuli
referred to as approach and avoidance. The infant's
emotional life consists of little more than these two
arousal states, an attraction to pleasant stimulation
therefore eliciting approach and withdrawal or
avoidance of unpleasant stimulation. Given that this
is the nature of emotional arousal the new-born
arrives equipped with, the approach avoidance
response makes perfect evolutionary sense. This is
all the new-born needs at this juncture in their
lifespan development. It might also suggest that
infants are born with an innate understanding of the
meaning intended in the emotional facial
expressions of others. Hence if the caregiver adopts
a playful posture and conveys a happy facial
expression, then the infant will be in an approach
arousal state and most likely respond positively by
mirroring the expression portrayed. The opposite
also applies, however, where parents adopting a
despondent posture are likely to initiate an
avoidance arousal state in the infant. Under these
circumstances the infant will feel uncomfortable and
will want the situation to change. In an avoidance
arousal state the infant will exhibit behaviours
designed to provoke a change in the parents
behaviour such as crying and ‘pick-me-up’ gesturing
or sucking an object such as a pacifier or the edge of
a blanket. A continuation of parental despondency
could have serious consequences for the infant's
normal socioemotional development. This could
cause, alterations to the infant's sleeping patterns
and increase levels of irritability, anger and
anxiousness. An infant's avoidance of aversive
situations is limited due to their immature motor
development, so they resort to simple avoidance
tactics such as turning the head, gaze avoidance and
crying. These types of behaviours are attempts at
modulating  their emotional arousal state.
Meodulation or emotional self-regulation refers to
the strategies we use to adjust our emotional state
to a level of intensity we feel comfortable with.




Frafifem T B T TR SR e ure w9 AR

UF e & ©Y H gH U4 WY @ daMae ifYefgan R ofRd d@iv ud g @t
Yamd® el &1 Ue ¥y ugf @ oo™ o3 &1 B ¥ o e seufsfia damers
TgltE @I Rpa1 Bl & o 3T Bl & ford U R iR oRaey aReR & U ¥ defifa
fara e 1| Ry & Wae® ofiad & 34 &l 3gieHl U HUd 38 3R 311 5: U Widd JeR &
U 3EU, 39 HRU ITFH R TARR 1 AHifdeH: ISR &1 uReR Fwhta: Ui 81 8| 599
UK 211 8 & 398 YaeE® 3gieH @I USd & R US Ag9d H [GEEHE el 8, SUFH-URER
e oot w1 famra Yae1 Fftla &l §1 78 6 a9 @1 HGGHAY & HR 3 wiad udd
fae &1 g 31 g8 i gIna fEar o el § 6 T9ea gl @ Yames oA sifiefa
¥ ffgd ol & “wfife iRl & @1y Ual Bid & | SHia Ii¢ caHIeddl [d-ieia i sH1d1 8
HR UTHARId S HYfdd @xal & a9 2] i IgiYAes SRl & SUNTH B 8RN AR S
Hfreafdd @1 uiafee $id 80 UE: 9ORES ¥4 9 fHa $n 79t 39¢ ol of 8 9@ar
21 o Ha-fuar sEEegy Ui ¥ 8 99 g § uRer S @ R e & 2
37 uRfRfEl & fria RIS ofie Tegd o iR T o aRkacH &1 918 &) 9Rer SaeF fe
3 ¥ RRrg] Arer-fir Sfine® & ogaer o giad & T ey o Tafkid deR! i e,
T TG H IS1al BT Ydbad AT a%g ol AHS g1 had o (-1 DI I BT FIRT Bl g | HIdI-Uar
& Udd HaUIG Bl 2] & YHF THIND-HdeATH® [ddd IR TR YT Us Iadl el 33 g &I
e ugfa @A wiawu) fasfasoa & wR | 9fg, ®iy quT fi<ausadr 5 uRad- 81 9adl 81 U 2]
B! Ufaea [ufaa! 1 uReR iftd § Tife SHe IRIRS e uius g €, 39T 3 9
IRER il oY R 991, U@ P ¢@d gu URER Wefkid 1 3R e & ZagR & UeRl od
8 deRl & U U Jd Hdaldd Igltd IR & Sghad & WM g 3dad I Yaeld
AFEEA &1 e 37 Wil & o e ol § oFR@ oue @1 989 7e9d &3 8 0
LT diadl R &1 GHEIRd B & [od gH JaR &d o

Continued parental despondency could cause
which of the following changes in an infant?

A. Alteration in sleep pattern

B. Increasingly irritable behaviour
C. Reduction in anxiety levels

D. Increased anger

Choose the correct answer from the options given
below:

1. A, B and Conly
2. A, B and D only
3.B,Cand D only
4.4 B, CandD

1 1
(2) 2
3) 3
(4) 4




HiHIG® (H11-IUan &1 9dd 3aRil & &R U 9] H FHafiRed § @H-9 uRadd gl 9@d g 7
A. T & Hiaed H gRad
8. Frgfgu amaeR # &
C. Teiarrdl Rl # St
D. ®IUH gl
i< feu e faweal 5 9 981 IR 9 -
1.®ad A B3R C
2.Had A, B3R D

3. %4 B, C AR D
4.A B C3HRD

1) 1
(2) 2
3) 3
(4) 4
1[Option ID=23097]
2[Option ID=23098]

3[Option ID=23099]
4[Option ID=23100]




